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Algebra general de límites 

 

Si 𝑙𝑖𝑚
𝑥→𝑐

𝑓(𝑥) = 𝐿 𝑦 𝑙𝑖𝑚
𝑥→𝑐

𝑔(𝑥) = 𝑀.   𝐿, 𝑀𝜖ℝ.. Entonces.  

 

𝒍𝒊𝒎
𝒙→𝒄

𝒇(𝒙) 𝒍𝒊𝒎
𝒙→𝒄

𝒈(𝒙) 

 

𝒍𝒊𝒎
𝒙→𝒄

(𝒇(𝒙) + 𝒈(𝒙)) 

 

L M L+M 

L +∞ +∞ 

L −∞ -∞ 

+∞ M +∞ 

-∞ M -∞ 

+∞ +∞ +∞ 

-∞ -∞ -∞ 

+∞ -∞ Indeterminado 

-∞ +∞ Indeterminado 

𝒍𝒊𝒎
𝒙→𝒄

𝒇(𝒙) 𝒍𝒊𝒎
𝒙→𝒄

𝒈(𝒙) 
 

𝒍𝒊𝒎
𝒙→𝒄

(𝒇(𝒙) − 𝒈(𝒙)) 

 

L M  L-M 

L +∞ −∞ 

L −∞ +∞ 

+∞ M +∞ 

-∞ M −∞ 

+∞ +∞ Indeterminado 

-∞ -∞ Indeterminado 

+∞ -∞ +∞ 

-∞ +∞ −∞ 

𝒍𝒊𝒎
𝒙→𝒄

𝒇(𝒙) 𝒍𝒊𝒎
𝒙→𝒄

𝒈(𝒙) 

 

𝒍𝒊𝒎
𝒙→𝒄

(𝒇(𝒙)𝒈(𝒙)) 

 

L M  LM 

L>0 +∞ +∞ 

L<0 -∞ -∞ 

+∞ +∞ +∞ 

-∞ -∞ +∞ 

+∞ -∞ -∞ 

-∞ +∞ -∞ 

0 +∞ Indeterminado 

+∞ 0 Indeterminado 

 

𝒍𝒊𝒎
𝒙→𝒄

𝒇(𝒙) 𝒍𝒊𝒎
𝒙→𝒄

𝒈(𝒙) 

 

𝒍𝒊𝒎
𝒙→𝒄

(
𝒇(𝒙)

𝒈(𝒙)
) 

 

L M≠0 
𝐿

𝑀
 

L +∞ 0 

L -∞ 0 

L>0 0+ +∞ 

L>0 0- -∞ 

L<0 0+ -∞ 

L<0 0- +∞ 

+∞ M>0 +∞ 

+∞ M<0 -∞ 

-∞ M>0 -∞ 

-∞ M<0 +∞ 

+∞ 0+ +∞ 

+∞ 0- -∞ 

-∞ 0+ -∞ 

-∞ 0- +∞ 

0 0 Indeterminado 

+∞ +∞ Indeterminado 

+∞ -∞ Indeterminado 

-∞ +∞ Indeterminado 

-∞ -∞ Indeterminado 

 

Tabla 1.  Cálculo de límites aplicando propiedades


